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GB/T 7400.11-1999
ITU-R BT.709-3 HDTV
ITU-R BT.1361
3 HDTV
3.1 HDTV
HDTV 1
1 HDTV
Y
1
F/=1.000 L - 0.099 0.018< L < 1.33
E'= 4.500 L - 0.0045< L  0.018
E'= - {1.009x ( - 40) " - 0.099}/ 4 - 0.25< L - 0.0045
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1 ( ) HDTV
(CIE 1931) X y
3 0.640 0.330
0.300 0.600
0.150 0.060
DGS
4
X y
E=E6=E
0.3127 0.3290
1 L 0 1 y y <L <
2 R G B 0 1
3 ITU-R BT.1361
3.2 HDTV
HDTV
2 HDTV
1 16:9
2 1920
3
4 1080
5 1:1
3.3 HDTV
HDTV
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3 HDTV
y = 0.45
( 1
Ey’ = 0.212655,’ + 0.715255/ + 0-072255/
ES=( -E’)/ 1.8556
E/=(E" -E’)/1.5748
4 HDTV

D,'=INT [(219 £, + 16 )x2"8]
D,/ =INT [(219 £, + 16 )x2"8]
D, =INT [(219 £, + 16 )x2"8]
D, =INT [(219 £, + 16 )x2""8]
Dy’ = INT [(224 £ + 128)x 2" 8]

Dy’ =INT [(224 £+ 128)x2" 8]

D, = INT [(160 £,' + 48 )x2"8]
D, = INT [(160 £, + 48 )x 2" 8]
D," = INT [(160 £,'+ 48 ) x2" 8]
D, = INT[(219 £, + 16 ) x2" 8]
D" = INT [(224 £’ + 128)x 2778

D" = INT [(224 £, + 128)x 2" 8]
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4 HDTV
D, = INT[ 0.2126 D' + 0.7152 0, + 0.0722 D]
0.2126 0.7152 0.9278 24 o4
Do = INT[( - D, - "y D2 1o
@ L¢ 1.8556 ©  1.8556 ° = 1.8556 5) 219 ]
DCR,:INT[(OJSM o - 0.7152 o - 0.0722 05')x&+2”‘1]
0 G 1.5748 1.5748 1.5748 219
B
_g. 219 -
D, = INT [{(0.21260," + 0.71520," + 0.07220,"") - 48 x2" 8}xﬁ+16x2n 8
0.2126 0.7152 0.9278 24 a4
0.,/ = INT [( - D" - D" + D,/ 4
@ L¢ 1.8556 " 1.8556 °  1.8556 5" 160 ]
0.7874 0.7152 0.0722 24 g
0. = INT D, - D" - D=0
& LC 1.5748 © 1.5748 °  1.5748 5") 160 ]
1 n
2 INT[X] X
3 R G B ITU-R BT.1361 2
3.4 HDTV
HDTV 5
5 HDTV
0
E’ E’ E’ E’
" - 700 75Q
(mv)
C b
ES E; + 350
2
(mv) ( 1) 75Q
3
( 2)
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5( ) HDTV
On
4
« 2
5 ) + 300 + 2% 75Q
6
3 4 8
7 8 9 3 4
Oy
8
()
3.5 HDTV
HDTV
6 HDTV
1 R G B ¥ C,
2 R G B Y
3 G G .
4 R G B Y 1920
G G 960
2
5 10 8
10 8
R G B Y 64 16
6 G G 512 128
R G B Y 940 235
G G 64 960 16 240
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6 HDTV
10 8
7 4 ~ 1019 1~ 254
0~3 1020 ~ 1023 0 25
3)
8 R G B VY 6
G G 7
1
2 10
3
3.6 HDTV
HDTV 7
HDTV
1
2 1125
3 2:1 1:1
4 Hz 25 24
5 Hz 28125.000+ 0.001% 27000.000+ 0.001%
6 R G B Y 2640 2750
7 MHz 30
8|”R 6 B VY MHz 74.25
9 |G G MHz 37.125
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8 HDTV
1125/25/2:1 1125/24/1:1
T (us) 1/74.25
a (T) 4 +3
528 * O g3g * O
b QD) -0 -0
c 7)) 4 +3
d (T) 132 +3
1920 * 6
e (T) -0
f / (T) 4 +1.5
1920 * 0
(T) - 12
Sp mv) 300 +6
Sp (mv) 300 +6
v (mv) 700
H (T) 2640 2750
g9 (T) 1320 1375
h / (D) 880 + 3 1980 + 3
k / (D) 308 + 3 638 + 3
1 4 5
2« T
3« o O,
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9 HDTV

1125/50/2:1

1125/24/1:1

LT

LT1 :
LT2 :

# 21

# 21
# 584

# 42

LB

LB1 :
LB2 :

# 1123

# 560
# 1123

# 1121

WBL

WBL1 :
WBL2 :

45 H

22 H
23 H

45 H

#1

#1

# 564

#1

2wy

(3.6 )
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